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QUESTION 1

Consider the following diagram: Which of the following best describes what this diagram represents?

. /

A. A work package that realizes a deliverable

B. A business process that realizes a representation
C. A work package that realizes a gap

D. A plateau that realizes a gap

Correct Answer: A

QUESTION 2

Consider the following three graphical notations:

&
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Which of the three graphical notations represent the concept of a network?
A. Only notation 1 represents the network concept

B. Only notation 2 represents the network concept

C. Notations 1 and 3 represent the network concept

D. All three notations represent the network concept

Correct Answer: C

QUESTION 3

Consider the following diagram:
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Which of the numbered relationships is correct according to the ArchiMate metamodel?
A. Number 1
B. Number 2
C. Number 3
D. Number 4

Correct Answer: B

QUESTION 4

Which of the following best describes how ArchiMate core elements can be related to motivation elements?
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A. Core elements realize requirements and, indirectly, principles and goals

B. Core elements can be assigned to motivation elements

C. Core elements influence requirements, constraints, principles and goals

D. Core elements realize drivers and, indirectly, requirements, constraints, principles and goals

Correct Answer: A

QUESTION 5

The PRO-FIT automobile insurance division of ArchiSurance instructs its employees to watch carefully for claims that
may be fraudulent, and to file a Suspicious Activity Report if they suspect fraud. Consider the following diagram that
describes how PRO-FIT reacts when its employees suspect fraud:

=5
Hold Report
& —
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File Suspicious Repair bw Report OR
Activity Report Qﬂ Junction
&’ :
@ Investigate =
Q Suspicious
Activity

Which of the following statements is expressed by the diagram?

A. Investigations of suspicious activity can be triggered by report reviews

B. Suspicious Repair Activity Reports are reviewed before they are filed

C. Suspicious Repair Activity Report Filed is the process that always occurs first
D. The same people file reports and review them

Correct Answer: A

QUESTION 6

Maya has been working for ArchiSurance for five years. The following diagram describes her responsibilities: Which of
the following answers best interprets the diagram?
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A. Maya works with the Senior Underwriter who works directly on complex cases and reviews simple cases
B. Maya supervises a Senior Underwriter who works directly on complex cases and reviews simple cases

C. In her Senior Underwriter role, Maya supervises separate teams that work directly on complex cases and review
simple ones

D. In her Senior Underwriter role, Maya works directly on complex cases and reviews simple cases

Correct Answer: D

QUESTION 7

The team of business architects at ArchiSurance wants to tailor ArchiMate to the specific needs and characteristics of
their organization.

Which of the following options to tailor the language is not advisable?

A. Select a subset of the ArchiMate concepts and relationships

B. Add new organization-specific concepts and relationships to the business layer metamodel
C. Define organization-specific specializations of existing business layer concepts

D. Add organization-specific attributes to existing business layer concepts

Correct Answer: B

QUESTION 8

The Project viewpoint is primarily used to model the management of architecture change.
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Which one of the following cannot be shown in a Project view?

A. Resourcing of projects

B. The main differences between the baseline and the target architecture
C. The motivation for projects

D. The results produced by different projects

Correct Answer: B

QUESTION 9

The diagram below shows key elements of the configuration of ArchiSurance\\'s newest and most powerful high-end
server, which is a model T-9900: Which of the following descriptions of the configuration is most consistent with the
diagram?

T-9800

DVX-1200 (?
Q\*\

3000 O

A. The T-9900 is fitted with a DVX-1200 cooling system and and AX-3000 onboard disk array

B. The T-9900 is running PRO-FIT\\'s custom, internally-developed DVX-1200 software for enterprise risk analysis and
is fitted with an AX-3000 onboard disk array

C. The T-9900 node is running DVX-1200 middleware and the AX-3000 operating system software
D. The T-9900 is an assembly of DVX-1200 processing units and AX-3000 high-speed memory arrays

Correct Answer: C

QUESTION 10
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Consider the following symbol, which represents information about a transformation project at ArchiSurance. Note that
premium in this context means the total revenue ArchiSurance receives from legal services insurance premium
payments:

C 15% year-gyfer-
year inc@h’se in
legal gérvices
pr m in 2012

N

Which of the following statements correctly expresses the meaning of the symbol?
A. ArchiSurance has attributed a 15% increase in premium to the transformation project in

B. The increased premium revenue created by completion of the transformation project will motivate significant change
in the ArchiSurance Legally Yours division

C. ArchiSurance has set a goal to increase legal services premium by 15% in 2012, as compared to the previous year
D. ArchiSurance has a requirement to increase legal services premium by 15% in 2012

Correct Answer: C

QUESTION 11

Which standard ArchiMate viewpoint focuses on the (internal) structure of a company, a department, or a network of
companies, and identifies authorities and responsibilities?

A. Actor Co-operation viewpoint

B. Organizational viewpoint

C. Business Function viewpoint

D. Business Process Co-operation viewpoint

Correct Answer: B

QUESTION 12

Which of the following best describes why ArchiMate supports specialization of concepts?

A. Itis the only way to model enterprise architecures that are useable and easy to communicate to the stakeholders
B. It is needed to represent the same concept on different viewpoints

C. It provides extra flexibility, enabling users to customize the language to their own preferences and needs, while
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maintaining the underlying precise definition of the concepts

D. It is allowed because without this mechanism it would be impossible to add attributes to ArchiMate concepts and
relations

Correct Answer: C
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